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. T
Which of the following offices 3. Consider the following
* has not been provided by the statements :

i Constitution?
Indian (A) The Constituent Assembly

ty Chairman of the at its first meeting decided
@ IR);'I;: ySalbha to elect its chairman.

(B) The constituent Assembly
(2) gegﬁw fe ol the Iek at its first meeting didn’t
abha

elect its chairman, but

adopted the  objective
R Dcruty Speaker of the resolution. ™

Legislative Assembly

(C) The Constituent Assembly

(4) Deputy Prime Minister at its first meeting decided
to elect its Chairman, adopt

objective resolution and to

2. Consider the following form ' Ci}r;lmétteets't 3 for
statements : preparing the Constitution.

Which of the above stateme
(A) The word ‘dignity’ is found T

. E“% is/are correct?
in the Preamble of our % &)
Constitution. (1) Both (A) and (C)
(B) The word ‘dignity’ is found (2) (A) only
in Part-IV and Part-III of
our Constitution. (3) Both (B) and (C)
(C) The word ‘dignity’ is found (4) (A), (B) and (C)
in the Preamble and Part—
IVA of our Constitution.
4. Article 14 of our Constityti
ut
Which of the following is .
correct? ' (1) permits classificatj
: discretion °n and
(1) Both (A) and (B) :
(2) permits classification and
(2) Both (B) and (C) class legislation
(3) permits classifi :
(8) Both (A) and (C) not class legislg:l(t:?;rllon but
(4) None of the above (4)  permits all of the aboy
e
/1608 a (3)
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§. The Scheduled Castes and the
Scheduled Tribes can claim

their benefits of reservation in
the

(1) immigrant State
(2) State of origin

(3) migrant State

(4) All of the above %%

6. Which of the following Articles
be amended with special

majority and ratified by half of
the States?

(1) Articles 5, 11, 72

(2) Articles 12-15

(3) Articles 214, 368

(4) Articles 73, 162, 368

7. Which of the
statements is correct?

following

(1) Anglo-Indian members can
be nominated to the Lok

Sabha

(2) Anglo-Indians and
Transgenders can be
nominated to the Lok
Sabha

(3) Anglo- Indian members
cannot be nominated to the
Lok Sabha

(4) None of the above

-_—

8. The 105" Amendment of the
Constitution, provides for

(1) restoring the power of State
Governments to recognise
socially and educationally
backward classes

(2) restoring the power of State
Governments to recognise
backward classes

(3) restoring the power of State
Governments to recognise
economically backward
classes

(4) None of the above

9. The Contingency Fund of India
is established by

(1) the Chief Justice of India

(2) the Auditor and the
Controller General of India

(3) the Parliament of India

(4) the President of India

1608-A (5) | P10
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10. With reference to Article 18,

consider the following
statements :
(A) The awards like Bharat

Ratna or Padma Vibhushan
to be used by the recipient
as a title to one’s name.

The State is not debarred
from awarding military or
academic distinctions even
though they may be used
as titles.

(B)

(C) No citizen of India shal

] %[5

i

accept any title from any"~

foreign State.

Which of the statements given
above are correct?

(1) (A) and (B)
) (A) and (C)
(3) (B) and (C)
(4) (A), (B) and (C)

the given Statements,

the appropriate

11. From

choose
Conclusion.
Statements :

(a) All pens are tools.

() Some tools are machines.
(c) All machines are gadgets.
Conclusions :

I. Some tools are gadgets.

[I. Some pens are machines.

(1) Only Conclusion I follows
(2) Only Conclusion 1 follows
(3) Both Conclusions I and Il
follow
(4) Neither Conclusion I nor 11
follows
/608-A

(A

12. Arun starts from his office and
walks 3 km towards north. Then
he turns right and walks 2 km
and then again turns right and
walks 2 km. In which direction
is he from the starting point?

(1) North-East
(2) South
(3) South-East
. (4) He is at the starting point

(towards)

4 boys and 2 girls are to be
seated in a row in such a way
that the two girls are always
together. In how many different
ways can they be seated?

13.

(1) 120
(2) 720
(3) 148
(4) 240

14. A complete cycle of a traffic light

takes 60 seconds. During each
cycle the light is green for 25

seconds, yellow for
5 seconds and red for
30 seconds. At a randomly
chosen time, the probability
that light will not be green is
(1) 1/3
(2) 1/4
(B) a2
(4) S5/12

[P, T. O.

www.shikarat.com




15. QeRTOT TEeLEINLOT BRBT
i Splan :S-S: *tm@
SeoINT ¢
(a) ﬁﬁoﬁ% aplevelpten) ﬁjg‘?

0

W,
SHALD @ﬁ@a.

(b) SRFTe ST I8 BT TOW

p& DY
ot o

(c) 3o WBONEL Tooons.
SeZRETNLD ¢

1 RRTe K® 2:3"5%, TO0
Toricdoe B8 B8,

I 3% adnsd uouri% Toriodoe

pleve pibl
%%(1) QeaFod I [NE, LRoR0REST
(2) Qeorcdd I1 &R, BRORORST
(3) Qerodd I &2 I =Tke
HTOROROZH
(4) Qe I exm I [uoe
STOTOROROL.
16. A, B, C, D 3% E «(®

améﬁ;?)rﬁ%, ‘C’ A hoZ agdmﬁm@"
38 D Nod ﬁaﬁﬁw‘%‘_ﬁ, ‘A’ Bhog
23T, ‘E’ 030 Bo®d STOTH *‘ac%é
WO, CWRTO ©I,08 HT?

(1) A
2) B
(3) €
4) D
/608-A
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17.

19.

WD, 7 TOTONT T 3 FZrbAchy
8 3 Boronc> I 2 ﬁ“‘ﬁmc
BRBWBITNT?

(1)’ 165

(2) 63

(3) 45

(4) 32

(L) 12
(2) 18
(3) 14
(4) 16

WOT  BONIT T, OB @ne
§,30%00 20 cm 5333 10 cm 208.
Mg)m% 10% m?.\';a;u BT SNOTE
20% ?m"‘?&zchjzj 7 00T TRA
ﬁ@:a’ 53}, @wo‘ov‘df?

(1) 240 cm?
(2) 254 cm?
(3) 264 cm?
(4) 280 cm?



A-1

15. From the

given Statements, 17. In how many ways can a group
CﬂhOOSG the appropriate of 3 boys and 2 girls be made
Conclusion. out of total of 7 boys and
3 girls?
g Statements :
(1) 105
N (@) All cats, dogs and
g elephants are rats. (2) 63
= (b) No elephant is cat or dog. e
4) 32
(c) Some cats are dogs. =
Conclusions : 18. What is the number of triangles
‘ in this figure?
L. No rat is cat, dog as well as
elephant.

I[I. Some rats are cats as well
as dogs.

(1) Only Conclusion I follows

(2) Only Conclusion II follows

(2) 18
(3) Both Conclusions I and II
follow B) 14
(4) Neither Conclusion I nor II (# 16
follows
19. The length and the breadth of a
: rectangle are 20 cm and
16,4, B, C, D and E are five :
students, C is taller than A but L cm respectively. DThe length
shorter than D; A is taller than il lncreafsed. by cl0%#and: the
B, E is same height of B, who is breadth- i1s increased by 20%.
the tallest among them? What  is  the new drea of
rectangle?
()5 (1) 240 cm?
(2) B (2) 254 cm?
3) C (3) 264 cm?
(4) D (4) 280 cm?
1608- A (9) [ PATO,

www.shikarat.com



23. W) %ﬁﬁ 0B TR W, QFNY
NoaNa a‘cmno 20 JRENLO. m_(acira
$IT39 HFTE0 uoz::'"e ﬁo:b,mwcaﬁcd@

20. 0T waeﬁcuoe? 52% T3, HFN
QONLE awcm@ "?Wﬁm“d 42%

I.HEN  NEIBTY, *'a:a'aﬁmt? ® o ;—o;b
35;?39' 7% NORBRE saaioim@%m mm bﬁﬁ 2020 %2 r:.; hd&g d
i laplel Q0B  OROPNTD, 5053%'5 wo@d 20 aﬁm‘ 55

ToT :

SRS CEFTIE T PFNY 083,032 éﬁ?d dodz,\% DT

o (1) 25 DARFNG

2) 23%

tsi 64021 (2) 380 SRENEO

il >0 (3) 45 SEAD

(4) 35 DN
21. 20, :)cr & 6 &wojoﬁ#e") m@fﬁ

wdodwewﬁ D9 VRO ﬁ@c\%}
e8RS TERTAD. B FeTT NS, 24.
BET WOBNY S BTRTAR -
5:6:7:8:9: 10 wiRT waD
ROAT 08T 60%. o), BeTT VY,

QY WY 7'5 &8 Tonwp 3:25 ©&
[T DTRED FRCOINDS. BARNYOT
Q0T BBCIWTOTTID 633?% T @ﬁ% ?

(1) 1 &

g QmF ri@a’% eosm 60% 803
R adﬁm@é? ' (2) 005 ©&
(1) 2

(3) 025 »&
(2" 2
(3) 4 (4) 3:25 =&
(4) 5

25. AORRT TN FRTO P T0a3. 180c

22. 22 SONROINE  2.0m) ﬁ;ﬁeﬁeﬁﬁ% QuFeal;, HeodHm YIHROTOT

1,680 Sn.noR IR0 et 16% aﬂagd
@ma;@?qmasﬁ. 8% @k‘?;o&s‘ BRED >,

WOT @w“&l& BOCDCINT. O
eng '50335@1}3 280 195 =SN3E. 2O

15% oo TEHBRT  wno D H NS dnT RoajneRy
BR0H S 230wseRd? BRODT?
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20.

21.

22.

In an examination, 52% of the
thold@ates passed in English,
%27 in Mathematics and 17%
in both. The number of those

;Nho failed in both the subjects
s

(1) 83%
(2) 23%
(3) 64%
(4) 55%

A student appeared in
6 papers. The maximum marks
are the same for each paper.
His marks in these papers are
in the proportion
5:6:7:8:9:10. Overall he
scored 60%. In how many
number of papers did he score
than 60% of the maximum

less
marks?
(1) 2
2 3
(3) 4
4) S

After selling a cycle for ¥ 1,680,

hopkeeper suffers a loss of
a ShODT = vants to earn 15%

(=1&y[=]

Ok

23. The average age of a teacher and

24.

25.

three students is 20 years. If all
the three students are of same
age and the difference between
the ages of the teacher and each
student is 20 years, then what
is the age of the teacher?

(1) 25 years
(2) 30 years
(3) 45 years
(4) 35 years

If you have two straight sticks of
lengths 7-5 feet and 3-25 feet,
what is the minimum length can
you measure?

(1) 1 feet

(2) 0:05 feet
(3} 025 feet
(4) 3-25 feet

One page is torn from a booklet
whose pages are numbered in
the usual manner starting from
the first page as 1. The sum of
the numbers on the remaining
pages is 195. The torn page

%. If
1?o/f(31t after giving the discount contains which of the following
of 8% what will be the marked numbers?
. ne?
B (1) 5,6
72,200
) (2) 7, 8
(2) 22,450
9, 10
3) ¥2,500 (3)
(4) 72,600 (4) 11, 12
www.shikarat.com [ReFE0.
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(1) - &% 1:99%

(2) = 1:99%

(3) oo 8:90%

nm 8-90%
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(4)  Sexor o8 Snay
1608-A

(12}
www.shikarat.com

29, 39N oIRRTE) Ut
2TIDTONTOR 8 030020TRN
S0LeNT?

(1) HEera ERRFo’

(2) QCF THEF WBOTRY

(3) FPCXT, WET NnEWRD L3
Ja5ert WMDY, MREd0

(4) SNTT LT

30.

31.

QVBRCTIT®  TWONOTRETT®

QBNELTOT®

& eTNFE) FOROWTOR cﬁ:az% Ei&“ﬁ@ﬁd
BTO WOTD E9RRIE @'u;raﬁocjd

(1)

(2)

(3)

(4)

3530 cirazsw &-wﬁ@e&;
evTodReNA &oeﬁomss&
BBOINTYTO

FEOSTT BWRTEY BRETRT
DR DT NRE> FLTTR

GVLPOTNIT 2208 R

(Slnto] @wﬁﬁ:ﬁ Sedbaen 3,
ggny mgagx mg«w@ I3

é’f‘éﬁﬁ@ﬁﬁ@w RO 5_.3@@9@5-3-3
I, e TTNS?

(1)
(2)
(3)
(4)

DBREIFOD ), AT
T Iu’

&)
W & oroagipedod

0T PR B,



26. ghe Rlepublic Day in the year
020 IS celebrated on Sunday.

In which of the following years
republic day again celebrated on

Sunday?
(1) 2024
(2) 2025
(3) 2026
(4) 2027

27. The value of a share raises by
10% on each day for two
consecutive days and falls by
10% on each day for next 2
consecutive days. What is the
percentage of profit or loss of
the share value by the end
4 days?

(1) Profit 1:99%
(2) Loss 1:99%
(3) Profit 8:90%
(4) Loss 890%

28. Which of the following devices is
generally used to measure the

extent of light penetration in %
o]
lake- &

(1) Secchi disk
(2) Graduated line
(3) Holling’s disk

(4) Laser range finder

':65; f?. La 135

29. Which of the

30.

31.

following is
believed to be an extinct bird
from India?

(1) Jerdon’s Courser
(2) Pink headed Duck

(3) Forest Spotted Owlet or
Blewitt’s Spotted Owlet

(4) Masked Finfoot

‘Nicobar Megapode’ is a large
bird found in the Nicobar

Islands. One of its unique habits
is

(1) catching fishes by using its
large feet

(2) building large mound nest
near the coast

(3) amphibious lifestyle

(4) changing the colour of its

plumage to merge with its
habitat

Which of the following is an
invasive species?

(1) Eichhornia crassipes
(2) Trapa natans

(3) Typha angustifolia
(4) None of the above

[P. T O.
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OFpeEFF S

2030 RITe AR
1Heg FCERNTTO?

(1) 07 TReT*
(2) TTD PHCTT’
() &R enwer T
(4) BIRE mes*

33. NS IR TR NRE> FBLO T
35, 00D TERK BATTONT?

(1) w9on ITF

(2) FPRRT, Fe, TP

(3) LMY MOTOBNYTOT FLTHT
(4) oo -'N:{ e5°®

34. RO [T oD ITF.I
ﬁﬁd)ﬁ*éﬁ)q ﬁa&"’&tfﬁ@q T, TEITOW TWOTT
STORAT DTS 03RTO?

(1) Tomsoens
(2) ezl Slevooy
(3) =T® 0. VFELSTCI,
o <3 o
(4) S0WF YEYCS*
/608-& (

-

14 )

35.

36.

GRS JIIFTY, W00 § o3
LOEFLONY SORCRETA, TR
&d

TITE. H0NETOATITO?

(1) 1861

(2) 1877

(3) 1866

(4) 1871

19463 ¢ Sondy, T,08 Y 85

2F0E03  BRD  oFP  LHI®

ToninigdN  [NeFB0R  BRBRMVY)

3000 59,0383 QT TRARB !

(A) ™o - A : w,FF, Fe0d),ecD
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ST PR FD) WORUWRRT

(C) noo) - C: oMy VB X0

¢S ReRLT  rooPNL  SF
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(1) () =2 (C) I3,
2) (B) % () =ng
() (a) = (B) I3,
4 (@), (B) @3 (C)
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32. Which of the following
personality was the driving force
behind India’s first citizens
report on the environment?

(1) Jairam Ramesh
(2) Prakash Javadekar
(3) Anil Aggarwal
(4) Madhav Gadgil
33. Which of the following snakes is

known to build a nest and guard
its young?

(1) King Cobra
(2) Common Krait
(3) Banded Krait

(4) Rat Snake

34, Who is the Dewan, who started
the practice of publishing the
names of the members of the
Mysore Representative Assembly
(MRA) in the Gazette?

(1) Rangacharlu
(2) Sheshadhri Iyar
(3) Sir M. Visvesvaraya

(4) Mirza Ismail

0g. &

b

35. In which Yyear

was the first
Criminal Tribes Act passed by
the British in India?

(1) 1861
(2) 1877
(3) 1866
(4) 1871

. In May 1946, the Cabinet

Mission proposed that the
Provinces would be classified
into three groups or sections are
as follows :

(A) Group A : Madras, Central
Provinces, UP, Bihar,
Bombay and Orissa.

(B) Group B : Punjab, Sindh,
NWFP and Baluchistan,

(C) Group C

Bengal and
Assam.

Which of the groups or sections
given above are correct?

(1) (A) and (C) only
(2) (B) and (C) only
(3) (A) and (B) only

(4) (A), (B) and (C)

[ B BlO:
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37.

38,

W8-A

With reference to the Lucknow

Session of the Indian National
Congress in 1916, consider the
following statements :

(A) The session was presided

over by Ambica Charan
Mazumdar.

Brought unity between the
Congress and the All India
Muslim League.

Dr. M. A. Ansari played a
vital role in bringing unity
between the Congress and

39.

40.

National Planning Committee
appointed by the Congress in
1939 was headed by

(1) Jawaharlal Nehru

(2) Vallabhbhai Patel

(3) Subhash Chandra Bose
(4) Dr. B. R. Ambedkar

Nationalist leader who organized
the Indian National Trade Union
Congress was

N (1) M. N. Roy
the All India Muslim B[
League. (2) C. R. Das
3) Sardar Vallabhbhai Patel
Which of the statements given e dar
above are correct? (4) Lala Lajpat Rai
(1) (A) and (C) only
41. The speaker may be removed
(2) (B) and (C) only (1) by a resolution of a house
passed by the majority of
(3) (A) and (B) only total membership of the
house
d (€
(4) (A), (B) and {Q) (2) by a resolution of the house
passed by 2/3rd majority
At of members present and
3 Of Jagir ari 1 S as VOtin
Thefhoos Ol ol i s
a0 ok tributed by (3) by a resolution of the house
line is at
decunt moved after 14 days clear
: ds notice and passed by
1) J. F. Richar majority of all the members
[ of the house
(2) C. A Beer (4) by resolution moved after
14 days notice and passed
gatish Chandra by majority of the members
(3) present
ipathi
@ R. P. Tripa e (P.T.O.
www.shikarat.com
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42. Department established
Muhammad-bin-Tu ghluq

. to
Improve agriculture was

(1)

Diwan-i—lstinquaq

(2)

Diwan-i-Khairat

(3) Diwan-i-Kohi

(4) Diwan-i-Risalat

43. Hoysala capital at Kannaur on
the north bank of river Kaveri
was established by

(1) Ballala III

(2) Ballala II

(3) Vinayadithya

Narasimha IL

(4)

of tenures the

kinds
. Three the Tribogha and

rvamasya,
?T?e Talavritti belong to

ara Empire

(1) Vijayanag
(2) Chalukyas of Kalyana
(3) Kada_rﬂbas
Chalukyas of Badami
(4)

45.

46.

(19)

47.

Two

types of pillars

Manastambas and Brahmadeva
Stambas (pillars) belong to art

of
(1)
(2)
(3)
(4)

Gangas
Hoysalas
Rashtrakutas

Kalyani Chalukyas

Mahavibhasa rightly called as
encyclopaedia of Buddhism was
composed by

(1) Ashvagosha
(2) Nagarjuna
(3) Vasumitra
(4) Parswa

Match List—I with List—II and
select the correct answer by
using the codes given
below :
List—I List—II
Mahajanapadas Capitals
A. Anga I. Ahichchatra
B. Avanti II. Champa
C. Surasena III. Ujjain
D. Panchala IV. Mathura
Codes :
A B C D
(1) IV 1l I 1
(2) 1 1 v I
3 1 1] 11 v
(4) n i v d
[P. T. O.
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48. 3@9}:5

ipe@OINRY THTOSA
(1) <%, BYONWT0 — DHODS

03T %3 BLOTEN
em:_ép VTT, 1917-42

(2) .80, B0 — PT8RA, 53

(2X0tF) IBRCTIUNED

(3) V&J® Wow, — O VRO
ST 1 348 oF, ROF
(4) RBReF AT — O 1&%@0
ST BRSO
49, “QWTROTFT TR0 TRY O

ROPPLITO ToOOF TEF o.o'acmﬁcjcb‘?

(1) =WRTE DTTTA

(2) BoBTY® W, 08T

(3) wOBRMY XRET

(4) s @tond

50. ‘mwoﬁe‘aodm‘ 6&0@5?&3‘ 53 %&3‘

GOROIT A WI0L 0L TYF TR,

[Niointnisblevepiowh]

1) e mi,

(2) SRS odudr e

(3) eseBoen

4)  Boeds cdnoe CIoN
/608-&

51.

(20)

52.

030IRRETRODN T AT

o o =
FBHODTON WoNST IFTFTe3T  ACX
ICOMOS 0TT

b ﬁ:@ruu' AT 13?35

(2) QOT W, RO 93-2‘;* S
BRI, a‘bvw Q0T T8
(3) "QO@&USI:‘.N B * -'513?:&@6 =3
mm fpowﬁ NOT® TIeFAE
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cdnen I 32©
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48. Mark the incorrect pair.

Secretary of Annie
Home Rule League?

(1) Jamnadas Dwarkadas
(2) Shankarlal Banker
(3) Indulal Yagnik
(4) George Arundale

50. Who wrote the
Spontaneous Revolution

Quit India Movement?

Francis Hutchins

(1)

(2) Winston Churchill

(3) Amery

(4) None€ of them
!608..3

i3] S. Henningham — Peasant
Mox‘z’ements in Colonial
India North  Bihar,
1917-42

(2) A. R. Desai—Peasant
Struggles in India

(3) Bipan Chandra — The
Indian  Left Critical
Appraisal

(4) Sukomal Sen — The Story
of Bardoli

49. Who was the organising

Besant’s

(21)

51. What does ICOMOS, a global

52.

non-governmental

st

organization
and for which is associated

with UNESCO?

(1)

(2)

(3)

(4)

International Conference
on One Medicine One
Science

International Council on

Monuments and Sites

International Council on
Monuments and Surveys

International Council on
Monuments of Sri Lanka

Match List—I with List—II and

select the correct answer from
the code given below :

List—I List—II
System of Advocates
Philosophy
A. Yoga [. Kapila
B. Mimansa II. Patanjali
C. Sankhya II. Kumarila
D. Vaisashika IV. Kanada
Codes :
A B 8 D
(e I I v
(2) I 111 I IV
(3) I A% 11 I
(4) IV I i I
[PPSO
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(A) 20240 G20 eﬂcﬁgié 3
SN,

(B) “Building a Just World and
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(1) (A) =g,
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53. Which system was declared
illegal in India by the India Act
V of 18437

(1) Sati

(2) Infanticide
(3) Slavery

(4) Dowry

54. Which legislation for the first
time used the term ‘Scheduled

Castes’?

(1) India Councils Act, 1909

(2) Government of India Act,
1919

(3) Government of India Act,
1935

(4) Constitution of Indian
Republic

55. Arrange the India’s top export
destination nations in ascending

Ordel', in 2023'

(1) UAE, China, USA,M
Netherlands A
(2) Netherlands, China, USA,
Russia
(3) UsSA, UAE, Netherlands,
China
(4) China, Netherlands, UAE,
USA
23 )
"608 (
-A

www.shikarat.com

56. Consider the statements given

57.

below :

Statement-I 15th Finance
Commission recommends that
the normal net borrowing limit
to the State Governments for the

three-year period of
2023-24 to 2025-26 may
be fixed at 3 percent of
GSDP.

Statement-II One very

important purpose of 15th FC
recommendation for higher
borrowing limit to the Union
and State Governments is to
foster transparency and to avoid
build-up of non-transparent
liabilities.

Correct answer is

(1)

Statement-I is true and
Statement-II is false

Statement-II is true and
Statement-I is false

Both are true
Both are false

Consider
statements -

the following

(A) G20 presidency for the
2024 was in Brazil.

“Building a Just World and
a Sustainable Planet” was
the statement of 2024 year
quote of G20.

(B)

Choose the correct answer :

(1) (A) only
(2) (B) only
(3) Both (A) and (B)

None of the above

(4)

[ P. B,
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64. Which of the following is not a 67. Workers eligible for registration
part of the Sahel] Region of under Karnataka State Gig
Africa? Workers Insurance Scheme are

1 * e : (1) food delivery boys and
(1) k(rnj_f'a, Ethiopia, Niger and Worliars bt & Bt
Sudan establishments

(2) Cape Verde, Chad, Mali and (2) workers at e-commerce
Mauritania establishments only

3) food delivery boys onl
(3) Niger, Sudan, Algeria and ) g :

Mali (4) garments workers only

(4) Egypt, Libya, Chad and
Algeria 68. Match List—I with List—II and

select the correct answer using
the code given below the lists -

65. The term ‘Kuland’ refers to

List—I List—II
(1) Wild Himalayan Sheep Australian States Cities
A. Queensland I. Adelaide

(2) Siberian Eagle

@4 4
ﬁ&é B. South Australia II. Brisbane
latic Black Beer i~ : :
(3) Asiatic C. Victoria [II. Kalgoorlie
(4) Mongolian Wild Ass D. Western IV. Melbourne
Australia
V. Sydne
66. The world famous Chuquicamata 1
(1) Aluminum & £ = -
() \% I\ I
g er :
(2) pp (2) I I Il IV
3) Mica (3) I | IV 11
(4) Manganese & A b g g
s (27) [P.T. O,
8-
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69. TEMWOTE).  T[OTN ROXT
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71.
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(4) BoNGRST 493 SBREET
/608-A
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72.

73.
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(C)

(1) (A) =28,

(2) (C) =»g

(3) (B) & (C) =T,
(4) (A), (B) =02 (C)
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70. ‘Skill on Wheels’

69. In the grasslands, trees do not

r
eplace the grasses as a part of

] * = §

(1) insects and fungi

(2) limit?d sunlight and
paucity of nutrients

(3) water limits and fire

(4) None of the above

initiative is

funded by
(1) IDBI
(2) IFCI
(3) Asian Development Bank
(4) World Bank

71. Which Article of the
Constitution deals with

protection of monuments and
places and objects of National

[mportance?

(1) Article 38 of
Constitution

(2) Article 40 of the
Constitution

(3) Article 46 of the
Constitution

(4) Article 49 of  the
Constitution

FM}R- o

th%ﬁ

(29)

72.

73.

Consider the following

statements .:

(A) Lakshadweep is the
smallest union territory of
India with 114 sq. km.

(B) Lakshadweep is under the

jurisdiction of the
Court of Karnataka.
(€) It is a uni-district
Union territory and
comprises of 12 atolls,
three reefs, five submerged
banks and ten inhabited

High

islands.
Which of the above statements
is/are correct about
Lakshadweep?
(1) Only (A)
(2) Omnly (C)
(3) Only (B) and (C)
(4) (A), (B) and (C)
Consider the following

statements regarding soils of
India :

Statement-I Most fertile
Alluvial soils, occupy the largest

area compared
to other types of soils in
India.

Statement-II Red soils are

widely known as Regur.
Choose the correct option :
(1) Statement-I is correct
but Statement-II is
incorrect

(2) Statement-II is correct but
Statement-I is incorrect
Both Statement-I and II are
correct

Both Statement-I and II are
incorrect

(3)

(<)

[ P T.O:
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(1) (B) =33

(2) (B) == (C) Rmg,

(3) (A) == (B) =ng,

(4) (A), (B) 3% (C)
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74- COnsider

508. &

the following

Stat . '
€ments regarding the Power

T'eSourceg .

(A) Appr OXimately

India’s total power
8fneration  comes from
Conventional sources such
as. coal, which is the
prlmary source of electricity
In the country,

9% of

The first thermal power
project in India was the
Sivasamudram project in
Karnataka, which was
installed in 1899,

(C) A significant portion of
India’s crude oil, petroleum
and related products is
imported from countries
such as Kuwait, [ran, the
UAE and Saudi Arabia.

Which of the above statements
is/are incorrect?

(1) Only (B)

(2) Only (B) and (C)
(3) Only (4) and (B)
(4) (A), (B) and (C)

75.

76.

m

(31)

Consider the following

statements :

Statement-I : As per the 2011
Census of India, Kerala is
considered as the State having
highest female literacy rate and
Bihar as the State having the
lowest female literacy rate.

Statement-II : The sex ratio is
generally more favorable towards
females in the southern States
like Kerala, Tamil Nadu and
Andhra Pradesh compared to
the Northern States.

Choose the correct option.

(1)

Statement-I is correct but
Statement-II is incorrect

(2) Statement-II is correct but
Statement-I is incorrect

(3) Both Statement-I and II are
correct

(4) Both Statement-I and II are

incorrect

AS per recommendations of the
High Powered Committee for
Redressal of Regional
Imbalances (HPCRRI) headed by
Dr. D.M. Nanjundappa the
Tesource allocations for Special
Development Plan must be
made according to

(1) the Cumulative Deprivation
Index
(2) physical Quality of Life
Index
(3) human Poverty Index
(4) multi-dimensional Poverty
[ndex
| PR,
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77. Consider the following

ST«’-Jtt_ernents about languages in
India - _

(A) Indian languages can be
majorly categorized into four
linguistic groups : The Indo-
European  Family, The
Dravidian Family, The
Austric Family and The
Sino-Tibetan Family.

(B) Most of the Dravida
language group is spread

across Assam, Bihar,
Chhattisgarh, Jharkhand,
Madhya Pradesh,

Maharashtra, Odisha and
West Bengal.

(C) The Sino-Tibetan Family
group is the smallest
among the four.

Which of the above statements
is/are correct?

(1) Only (A)
(2) Only (B) and (C)
(3) Only (A) and (C)

(33)

1608-&
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78. Consider the following :

Ox-bow Lake : When the lake
is formed by spits and bars in
coastal areas.

Lagoon : A lake formed when a
meandering river is cut off from
the mainstream.

Glacial Lake : A lake formed by
melting of glacier is called a
glacial lake.

How many pair(s) is/are
correctly matched?

(1) Only one

(2) Only two

(3) All three

(4) None of the above
[P.T.O.
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79. Consider the statements 80. Match the following ;
regarding Indian Ocean Dipole :

National Park State

Statement-I : 10D, sometimes

ian Nino, ‘ R
o e ke AL | Vet N L
Phenomenon, occurring in the Park
relatively smaller area of the
Indian Ocean between the vk
Indonesian  and Malaysian B. Van Vihar II. Gujarat
Coastline and the African National Park

coastline near Somalia.

C. Kanger Valley III. Haryana
Statement-II : 10D is said to be National Park
negative when the western side
of the Indian Ocean, near the

Somalia coast, becomes warmer D. Pin'Valley IV. Madhya
than the Eastern Indian Ocean. maE National Park Pradesh
It is positive when the Westemﬁq
Indian Ocean is cooler. ’“
E. Sultanpur V. Himachal
National Park Pradesh

Choose the correct option -
Choose the correct matches

| from the option given below :
(1) Statement-I is correct but
Statement-II is incorrect

(2) Statement-II is correct byt

Statement-I is incorrect L \Y4 I v 1
\% I I
(3) Both Statement-I and 11 are (8
correct

(B} L SIS s SSSEE e
(4) Both Statement-I and It are

incorrect (4) S H | Vv m v

'ﬁUS-A (35 ) | P E2O).
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81.

82.

83.

608 A

Hiranyakeshi and Markandeya
are tributaries of river

(1) Malaprabha
(2) Ghataprabha
(3) Bhima

(4) Doni

Six persons are playing a card
game. Sujan is facing Raghav
who is to the left of Ajay and to
the right of Praveen. Ajay is to
the left of Dhanush. Yogesh is
to the left of Praveen. If
Dhanush exchange his seat
with  Yogesh and Praveen
exchange with Raghav, who is
sitting to the left of Dhanush?

(1) Sujan
(2) Yogesh
(3) Raghav
(4)  Ajay

The preferred fuel choices
during sprinting are all,
except

(1) stored ATP

(2) oxidation of glycogen and
fatty acids

(3) stored creatine phosphate

(4) anaerobic glycolysis

. Biome I.

. Hekistotherms 1II.

. Anemometer [11.

D. Community IV.

84. Match List—I with List—II.

List—I List—II

organisms
living in a
habitat

large sized
ecosystem

instrument
that
measures
winds

plants
thrive

under low
temperature

Choose the correct answer from
the options given below :

A B @ D
(1) I Y I I
(2] I 11 1% I
()R 1\ II 111
@) I 11 I 1\Y4

. In India temperate evergreen

type of vegetation is found

mostly in

(1) Western Himalayas about
3500 mts altitude

(2) East and West Himalayas at
altitude less than 3500 mts

(3) Rajasthan and South
Punjab
(4) Western Ghats and Assam

[ B T
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89. The velocity of electromagnetic
wave is

%6. Oxylophytes grow in

(1) saline soil (1) maximum in vacuum
(2) sandy soil (2) maximum in dielectric
medium
(3) cold soil
(3) =zero in vacuum
(4) acidic soil
(4) same In any medium

87. Parachute mechanism of fruit

and seed dispersal is due to the 90. The absorption of ink by blotting

structure Called paper involves

(1) Pappus (1) viscosity of ink

(2) Thorns (2) capillary action
phenomenon

(3) Bracts

(3) diffusion of ink through the
(4) Corolla blotting

(4) Siphon action

g88. Consider the following

statements : |

91. The fact of the ‘impossible
Statement-I : Newton’s first law trinity’ is related to which of the
is valid for the pilot in an aircraft following?

: i i ff.
which is taking o A. Free capital flows

statement-II : Newton'’s first law

3 B. A fixed h
is valid for the passenger in a Sxchanse feles
train moving with constant : C. Independent Fiscal Policy
velocity. e
§{1E TR D. Independent Monetary
which of the following is Policy
correct?
Choose the correct answer :
nl
[y A ey (1) A, B and C
(2) 1 only 2) A, B and D
(3) Both I and II are correct (3) A, C and D
(4) Both I and Il are wrong (4) B, C and D

(39 [B. Bd
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92.

93.

(3)

;@% (4)

For a product considered to be
Giffen

(1) it should be a normal good

(2) it should be an inferior
good

(3) it should be a luxury good

(4) it should be a necessity
good

The income effect of price
change is negative for

(1) normal goods

(2) inferior goods

luxurious goods

Giffen goods

94. Monitoring App for Seamless

95. The

Inspection (MASI), which was
seen in the news, is associated
with which action?

(1)  Monitoring of Healthcare

Institutions
(2) Monitoring of Child Care
Institutions
(3) Inspection of Sports
Institutions
(4) Inspection of Education
Institutions
Magazine Panchayat

Darpan is launched to monitor
the progress of which Yojana?

(1) Bhamashah Yojana

(2) Sansad Adarsh  Gram
Yojana
(3) Pradhan Mantri Awas
Yojana
(4) Pradhan Mantri Jan-Dhan
Yojana
/608-%

(41)
www.shikarat.com

96. Which of the following options

917.

is not incorporated as

sustainable development

parameters?

(1) Gender disparity and
diversity

(2] Inter and intra-

generational equities
(3) Carrying capacity

(4) None of the above

Which of the following could be
said to have prevented the

‘trickle down’ effects in Indian
economy?

A. Increased dependence of
agriculture on purchased
inputs and privately
managed irrigation.

B. More employment of labour

by  larger landholding
farmers.

C.  Lowered participation of

women in  agricultural
workforce due to new
technology.

D. The failure of the Green
Revolution.

(1) A and B

(2) B and C

(3) A and €

(4) B and D

[ PARO.
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98. C(msider the

following :

(A) The Ministry

Development

Ent repreneurship
developed the
portal.

Skill
and
has

e-Shram

of

The e-Shram portal aims to
Create a National database
of organized workers.

(C) The database of e-Shram
portal includes details lilie
name, occupation, address,
educational qualification
and skill types.

(D) The portal is linked to NCS
portal and ASEEM portal
for seamless facilitation of

SEervices.

Which of the above are coriect

with reference to e-Shram
Portal?
(1) Only (C) and (D) are correct

99. Consider the followir
statements :

(A) Increasing level
Education increast
anaemia.

(B) Increasing weal
diminishes anaemia.

(C) Anaemia is low in urbs
area compared to rur
area.

(D) Anaemia varies regionall
High in  States il
Chhattisgarh, Bihar ar

e
Ris

100.

Odisha; Low in States lil
Lakshadweep, Nagalan
Manipur.
‘vhich of the above statement
are correct as per Nation:
Family Health Survey-5 (NFHS
5), 2019-21?
(I) Only (A) and (B) are correc

(2) Only (B) and (C) are correc

(3) Omnly (B), (C) and (D) ar
correct

(4) All are correct

Consider the following

States :

A. Maharashtra

B. Gujarat

C. Rajasthan

D. Karnataka
Arrange the States given above
in the descending order based

in the
ir percentage share 1
on theit p of renewable

(2) Only (B) and (C) are correct otential
;(Z)tv?clar ii India as on 31st March,
2024.
(3) Only (A), (C) and (D) are (1) ANC, BE
correct (2) C» A B, D
(3) A G D B
(4 c B‘ AJ 'D
(4) All are correct 3 [P.T. O.
www.shikarat.com
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